Total No. of Questions : 5] SEAT No. :
P1202

[Total No. of Pages : 2
[4963]Ext.-601
T.Y. B.Com.

BUSINESS REGULATORY FRAMEWORK (M.LAW)

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:

1)  All questions are compulsory.

2)

Figures to the right indicate full marks.

Q1) Define the term ‘Proposal’. Explain the legal rules as to a valid proposal.[20]

02) Whois an ‘unpaid seller’? What are the various rights of an unpaid seller?[20]

OR
Explain the concept of Limited Liability partnership. State the provisions of
dissolution of ‘Partnership’ and ‘Limited Liability Partnership’. [20]
03) a) What are the salient features of the consumer protection Act 19867 [10]
b) Explain the rights of design holder. [10]

OR
a)  What are the unfair trade practices under the consumer protection Act
19867 [10]
b) Explain the characteristics of copyright. [10]

04) What is meant by endorsement of a Negotiable Instrument? Describe in detail

the various types of endorsement. [20]
05) Write short notes on (Any Two): [20]

a) Nature and legality of E-commerce.

b) Essentials of a valid Arbitration Agreement.

c) State Consumer Disputes Redressal Commission.

d) Scope of traditional knowledge as an Intellectual Property.
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Total No. of Questions : 4] SEAT No. :
P1203

Time : 3 Hours]

[Total No. of Pages : 8
[4963]Ext.-602

T.Y. B.Com.
ADVANCED ACCOUNTING

(2013 Pattern)
[Max. Marks : 100

Instructions to the candidates:

1)
2)
3)

Q) a)

b)

All questions are compulsory.

Figures to the right indicate full marks.

Use of calculator is allowed.

Answer in one sentence only (any six): [12]

i)  Accounting standard 17 stands for what?

i) When a bank can stop the transfer its Net Profit to Statutory
Reserve?

i) What is service tax?

iv)  Why average clause is included in the Insurance Policy?

v)  What do you mean by ‘Standing Charges’?

vi) What is meant by current assets?

vii) What is a Co-operative Society?

viii) What is meant by Branch?

ix) What is the formula for calculating Gross Profit percentage in case
of Loss of Profit policy?

Write short notes on (any three): [18]

i)  Accounting standard 18.

i)  Operating Ratio.

iii) Statement of Affairs.

iv) Contingent Liability.

v) VAT.

vi) Tax Deducted at Sources.
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02) Following is the trial balance of Mahanagar Bank Ltd. as on 31 March 2015.

[20]
Trial Balance

Particulars Debit Rs. Credit Rs.
Premises Less depreciation 3,70,000 -
Money at call & Short Notice 4,30,000 -
Furniture Less depreciation 60,000 -
Depreciation on Bank’s Assets 22,000 -
Non-Banking Assets acquired
in settlement of claims 40,000 -
Cash in Hand 6,00,000 -
Cash at Bank 5,00,000 -
Investments 7,00,000 -
Loans, Cash Credit and Overdraft 25,30,000 -
Interest on Deposits and Borrowings 4,00,000 -
Audit fees 9,000 -
Salaries and Allowances 81,000 -
Directors Fees 8,000 -
Postage & Telegrams 2,700 -
Printing & Stationery 7,400 -
Other Expenditure 4,900 -
Interest and Discount - 7,35,000
Share Capital
Authorised: 15,000 Equity Shares -
of Rs. 100 each
Issued and Subscribed:
12,000 Equity Shares of Rs. 100 each - 12,00,000
fully paid.
Statutory Reserve 2,40,000
Deposits 25,00,000
Provident fund 2,70,000
Borrowings from Other Banks 5,10,000
Unclaimed Dividend 8,000
Commission and Exchange 75,000
Profit on sale of Non-Banking assets 2,400
Profit & Loss A/c (1/04/2014) 2,24,600

Total 57,65,000 57,65,000
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Adjustments:

i)  Provide Rs. 20,000 for Bad and Doubtful Debts.
i)  Bills for collection amounted to Rs. 2,10,000.
iil) Acceptances, Endorsements and other obligations on behalf of
customer’s amounted to Rs. 1,04,000.
iv) Provide Rs. 3,000 for Rebate on Bills Discounted.
v) Provide Rs. 21,000 for Taxation.
vi) Postage stamps of Rs. 320 and stationery of Rs. 1400 was in hand on
31/3/2015.
Prepare Profit and Loss Account for the year ended 31/3/2015 and the
balance sheet as on that date as per Banking Regulation Act.
OR
From the following Trial Balance as on 31/03/2015 and the information given
there after of Malegaon Consumer’s Co-operative Society Ltd. Malegaon.
Prepare Trading Account and Profit and Loss Account for the year ended
31/3/2015 and Balance Sheet as on that date.
Trial Balance as on 31/3/2015

Particulars Debit Rs. Credit Rs.
Share Capital as on 1/4/14 - 10,000
Reserve Fund - 1,500
Co-Operative Development Fund - 500
Stock of Goods (1/4/2014) 11,250 -
Office Furniture 5,300 -
Price Fluctuation Fund - 800
Sundry Creditors - 2,000
Sundry Debtors 3,000 -
Salaries 7,500 -
Commission 2,700 -
Commission Payable - 500
Rent and Taxes 2,600 -
Postage 1,250 -
Travelling and Conveyance 200 -
Printing and Stationery 400 -
Calls in Arrears as on 1/4/2014 600 -
Dividend for the year 2013-14 470 -
Audit fees 400 -
Interest on Investments - 1,100
Profit for the year 2013-14 - 5,000
Equipments 1,800 -
Admission fees - 50
Purchases 1,58,500 -
Carriage and Cartage 4,000 -
Investments 10,000 -
Sales - 2,05,000
Cash in Hand and at Bank 16,480

Total 2,26,450 2,26,450
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Additional Information:

)

03) a)

Closing stock of goods as on 31/3/2015 is valued at cost price
Rs. 12,500 and at market price Rs. 14,000.

Outstanding expenses as on 31/3/2015 were as follows:-
a) RentRs. 100 b) Salary Rs. 200
Salary prepaid amounted to Rs. 300.

Interest accrued on investments was Rs. 200.

Charge 5% depreciation on office furniture.

The society declared 10% dividend on its paid-up capital as on 31/3/
2014. The society also transfered 25% of their profits for the year ended
31/3/2014 to Reserve Fund and transferred Rs. 310 to Co-Operative

Development Fund as approved in the Annual General meeting held on
315t July 2014.

A fire occurred in the godown of M/s Poonawala on 31% March 2014
destroying the major portion of the stock. The following particulars were,

however, available. [10]
Particulars Rs.

Stock on 1% Jan.2013 31,400

Stock on 315 Dec. 2013 35,600

Sales for the year 2013 1,00,500

Sales from 1% Jan. 2014 to 315 March 2014 40,250

Purchases for the year 2013 80,000

Purchases from 15tJan. 2014 to 315 March 2014 12,600

Included in the stock of 31 Dec. 2012 were some shop-soiled goods
which originally cost Rs. 2000 but were valued at Rs. 1400. Half of this
stock was sold for Rs. 500 in the year 2013 and the remaining stock was
valued at Rs. 600 on 31% Dec. 2013. Half of this was sold for Rs. 250 in
March 2014. The unsold portion was considered to be worth 80% of its
original cost. Subject to this the rate of gross profit was uniform.
The sum insured was Rs. 15,000 and there was an average clause in the
policy. The stock salvaged was worth Rs. 1,200.

Find out the amount of claim to be lodged with the insurance company
for loss of stock.
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b) M/s Rajesh Traders Pune has a branch at Nashik. The goods are invoiced
to the branch so as to have a profit of 30% on Invoice price, under the
strict instructions of selling goods only at invoice price. Following are

the particulars relating to the branch. [20]
Particulars Rs.
Stock on 1.1.2014 (Invoice Price) 12,000
Debtors on 1.1.2014 6,200
Goods Sent to Branch (Invoice Price) 35,000
Goods Returned by the branch (Invoice price) 1,000
Credit Sales made during the year 21,000
Cash Sales during the year 20,000
Goods Returned by customers 600
Cash from Debtors 19,000
Discount allowed to Debtors 300
Allowances to Debtors 200
Bad Debts in the year 600
Cheques sent to Branch for

Salaries 3,300

Rent and Rates 2,000 5,300
Shortage of goods at the branch 400

Ascertain the profit or loss made by the branch by preparing:
i)  Branch Stock Account

ii) Branch Debtors Account

i) Branch Expenses Account

iv) Branch Adjustment Account

[4963]Ext.-602 -5



04) Youare given: [20]
a) Balance Sheet of Mr. Pratap as on 1.4.2014.
b) Summary of Cash transctions during the year 2014-2015.
c) Theremaining transctions.
Balance Sheet as on 1/4/2014.

Liabilities Rs. Assets Rs.
Capital Account 60,300 Land & Buildings 40,000
Creditors 34,900 Plant & Machinery 25,000
Bills Payable 14,500 Patents 10,000
Loans 15,300 Fixtures 7,500
General Reserve 10,000 Stock 22,300
Outstanding Wages 1,340 Debtors 24,700
Bank Overdraft 2,000 Bills Receivable 7,300
Cash in Hand 1,540
Total 1,38,340 Total [ 1,38,340
Dr. Cash Book for the year ended 31/3/2015 Cr.
Particulars Rs. Particulars Rs.
To Balance b/d 1,540 By Bank Overdraft 2,000
To Debtors 22,990 By Wages 7,640
To Bills Receivables 5,700 By Loans Paid 5,300
To Capital 7,500 By Creditors 20,500
To Cash Sales 17,910 By Bills Payables 10,900
To Commission 2,500 By Salaries 11,700
To Rent 11,000 By Sundry Expenses 730
By Interest on Loans 1,000
By Drawings 4,470

By 6% Investment

(Purchased on

15 October 2014) 4,000
By Cash Balance 790
By Bank Balance 110
Total 69,140 Total 69,140
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Other information:-

Credit Sales
Credit Purchases

Bills Receivables
(Received)
Stock on 31/3/2015

Bills Receivables Dishonoured Rs. 1,500.

Adjustments:-

Rs. 38,000
Rs. 35,000
Rs. 10,700

Rs. 29,500

Discount Allowed Rs. 510
Discount from

Suppliers Rs. 370
Bills Payable Rs. 9,700
(Issued)

i)  Provide 5% for doubtful debts on debtors and bills receivables.

i) Depreciate Plant & Machinery by 5% and Land & Building by 2% %,

Patents & Fixtures by 10%.

i) Outstanding wages amounted to Rs. 910 and Salaries Outstanding

amounted to Rs. 540.

iv) Transfer Rs. 5,000 to General Reserve.

Prepare Trading and Profit & Loss account for the year ended 31/3/2015 and
Balance Sheet as on that date.

OR

The following Summarised Trading and Profit and Loss account of Sanjay Ltd.
for the year ended 31% March, 2015 and the Balance Sheet as on that date.

Dr. Trading Account Cr.
Particulars Rs. Particulars Rs.
To Opening Stock 1,00,000 By Sales 8,50,000
To Purchases 5,60,000 By Closing Stock 1,50,000
To Gross Profit 3,40,000
Total 10,00,000 Total | 10,00,000
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Profit and Loss Account

Dr. Cr.
Particulars Rs. Particulars Rs.
To Operating Expenses By Gross Profit b/d 3,40,000
Selling & Distribution 30,000 | By Non-Operating
Administrative income :
- Expenses 1,50,000 Interest 3,000
Finance Charges 15,000 | Profit on Sale of Shares 7,000
To Non operating
Expenses: loss on
Sale of Assets 5,000
To Net Profit ¢/d 1,50,000
Total 3,50,000 Total 3,50,000
Balance Sheet as on 31/3/ 2015
Liabilities Rs. Assets Rs.
Issued Capital Land & Building 1,50,000
2,000 Equity Shares Plant & Machinery 80,000
of Rs. 100 each 2,00,000 Stock 1,50,000
Reserves 90,000 Debtors 70,000
Profit & Loss A/c 60,000 Bank Balance 30,000
Sundry Creditors 1,20,000
Bank Overdraft 10,000
Total 4,80,000 Total 4,80,000

From the above statements you are required to calculate the following ratios

with significance.

1)  Current Ratio.
i)  Liquid Ratio.

i) Operating Ratio.

iv) Stock Turnover Ratio.

v)  Debtors Turnover Ratio.

vi) Net Profit Ratio.

vi) Gross Profit Ratio.
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ECONOMICS
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Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) State the comparison of the Indian Economy with developed Economies with

respect to [20]
a) Industry b) Service Sector
c) Per Capita Income d) Agriculture
02) Describe the constraints on Agricultural Development in India. [20]
OR
Explain the role of Industrilisation in Economic Developement. [20]

03) a) State the importance of foreign trade in Economic Development. [10]

b) Explain the structure and objectives of SAARC. [10]
OR
a) State the role of Human Resource in Economic Development. [10]
b) Explain current Export-Import policy (Exim Policy). [10]
04) Explain the forms and need of foreign capital. [20]
05) Write short notes on any two: [20]

a) Human Development Index (H.D.I.).

b) New Industrial Policy - 1991.

c) Role of Public Sector in infrastructural development?
d) International Monetary fund. (I.M.F).
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ECONOMICS
International Economics

(2013 Pattern)
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Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.
3) Draw diagrams wherever necessary.

Q1) State the meaning of International trade, Distinguish between Domestic trade

and International Trade. [20]

02) Explain in detail the Merits and Demerits of Free Trade Policy. [20]
OR

Explain the Heckscher-Ohlin theory of International Trade. [20]

03) a) State and explain the causes of disequilibrium of Balance of payments.[10]

b) Explain the Merits and Demerits of Fixed Exchange Rate. [10]
OR
a) Explain the role of Multi-National Corporations. [10]
b) Explain the nature and Scope of Euro-DollarMarket. [10]
04) Explain the India’s Foreign Trade Policy Since 1991. [20]
05) Write short notes (Any Two): [20]

a) Foreign Capital.

b) Purchasing Power Parity Theory.
c) Functions of BRICS.

d) Terms of Trade.
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AUDITING AND TAXATION

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

3)  Use of calculator is allowed.

Q1)i1)  What are the types of audit report. [10]
i)  What are the types of errors. [10]
OR
i)  What are the duties and responsibilities of auditor.

i)  Explain the difference between verification and valuation.

Q2) Write the short notes on (any four): [20]
1)  Audit programme.
i)  Audit notebook.
ii) Tax audit.
iv) Importance of auditing.
v)  Qualification of auditor.

vi) Internal audit.

03) Explain the following terms: [20]
i)  Income.
i) Previous year.
i) Continuous audit.

iv) Agricultural income.
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OR

Mr. Rohit has occupied two houses for his residential purposes, from
the following particulars determine the income from house property for

the A.Y. 2016-17.

a) Municipal valuation

Fair rent

c) Standard rent under Rent Control Act

Municipal taxes paid
e) Fireinsurance

f)  Annual charges

g) Interest on loan for construction of house

h) Date of completion of houses

House 1
Rs.
3,20,000
3,70,000
3,30,000
10 percent
4,000
6,000
1,61,600
31 Mar 08

[10]
House 2
Rs.
2,60,000
2,64,000
2,72,000
10 percent
3,000
2,000
47,000
31 May 04

The following is the Profit and Loss Account of Raju for the year ended
31-3-2016. Compute his income from business for A.Y. 2016-17. [10]

To Opening stock 1,15,000 | By Sales 8,60,000
To Purchases 1,40,000 | By Closing stock 20,000
To Wages 1,20,000 | By Gift from father 27,000
To Rent 1,46,000 | By Income-tax refund 3,000
To Repairs of motor car 13,000
To Wealth-tax paid 12,000
To Medical expenses 13,000
To General expenses 1,10,000
To Motor car 1,30,000
To Provision for 14,000

Dep. on motor car
To Advance Income 11,000

Tax paid
To Profit for year 86,000

9,10,000 9,10,000

[4963]Ext.-605

-2 -



Following further information is given:

a) He carries on his business from rented premises half of which is
used as his residence.

b) The use of the car was 3/4"™ for business and 1/4™ for personal
purposes.

c) Medical expenses were incurred during sickness of Mr. Raju for his
treatment.

d) Wages include X 12,500 an account of Raju’s driver.

e) As per rules the rate of depreciation on motorcar is 15%.

04) Mr. Yash is a General Manager of a Textile Company of Delhi. He has submitted
the following particulars of his income for the financial year 2015-16.  [20]

vii)

Viil)

xii)

Basic salary Rs. 2,10,000 (Annual).
D.A. Rs. 12,000 p.m. (Rs. 5,000 p.m. enters into retirement benefits).

Education allowance for two children at Rs. 1,300 p.m. per child and
hostel expenditure allowance for elder son @ Rs. 1,450 p.m.

Commission on sales Rs. 20,000.
Entertainment allowance Rs. 800 p.m.

Travelling allowance for his official tours Rs. 40,000 (Actual expenditure
on tours amounted to Rs. 27,000).

He was given cloth worth Rs. 2,000 by his employer free of cost.

He resides in the Bungalow of the company. Its fair rent is
Rs. 12,000 p.m. He pays Rs. 51,000 p.a. as rent for the house. A watchman
and a cook have been provided by the company who were paid
Rs. 1,400 per month each.

He has been provided with a motor car of 1.8 litre engine capacity
(1.e.1800 cc) power with a driver for his official as well as personal use.
Running and maintenance expenses are borne by the company.

The company has contributed-
A) 10% of salary to notified pension account / scheme and
B) Rs. 35,000 to his RPF.

Interest credited to RPF account was @ 13% p.a. amounted to
Rs. 16,250.

Professional tax paid Rs. 2,500. Compute his income from salary for the
Assessment Year 2016-2017.
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05) Mr. Sanjay, Finance Manager of K.L. Ltd., Mumbai furnishes the following
particulars for the financial year 2015-16. [20]

i)
if)
i)

iv)

v)

vi)
Vii)

Viii)

Xii)
xii)

Salary Rs. 46,000 p.m.

Value of medical facilities provided in a hospital maintained by company
Rs. 87,000.

Rent free accommodation owned by the company.

Housing Loan 0f Rs.6,00,000 at the interest rate of 3% p.a. (no repayment
is made during the year). The interest changed by S.B.I. on such loan is
at 9% p.a.

Gift in kind made by the company on the occasion of wedding anniversary
of Mr. Sanjay Rs. 4,750.

A wooden dining table and 4 chairs were provided to Sanjay at his
residence. This was purchased on 1-5-2011 for Rs. 60,000 and sold to
Sanjay on 1-8-2014 for Rs. 30,000.

Personal purchases through credit card provided by the company
amounting to Rs. 10, 000 was paid by the company. No part of the
amount recovered from Sanjay.

An ambassador car which was purchased by the company on 15-7-2012
for Rs. 2,50,000 was sold to Mr. Sanjay on 14-7-2014 for Rs. 1,00,000.
Depreciation on motor car is charged by 20% p.a. by written down
value other income received and payments made by Mr. Sanjay during
previous year 2015-16.

Interest on fixed deposit with a company Rs. 5,000.

Income from specified Mutual Fund Rs. 3,000.

Interest on bank Term Deposit of minor daughter Rs. 3,000.

Income from U.T.I. received by the minor son with disability Rs. 11,200.
Contribution to annuity plan(pension fund) of L.I.C. u/s 80 ccc Rs.
10,000.

xiv) Deposit in p.p.f. Account made during year 2015-16 Rs. 70,000.

XV)

Bonds of ICICI (tax saving) eligible for deducation u/s 80 C Rs. 30,000.

Compute the taxable income and tax liability for the assessment year 2016-17.

y v A
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g7 4)

®) Jufcra et THEY oft. TSI STANEESRN 1.

g) Ol 3 12,500 Us] Aren SRISEETe! .
3) FowgeR Wi wRaie www 15% .

oft. a9 3 it Aefier ToraeTEet U STARe HASR UgTeR 3iied. et errean 2015-
16 =it stfeier auiht ScaaT=it Wiclier yamot Tifgd et o, sht =ron e wRaTEa
T e e 2016-17. [20]

vii)

¥os WIR X 2,10,000 (Tnfees).
TErmE W= % 12,000 2.4. (% 5,000 Faxht snamst eimea. )

T giegl geren Sterfureh W 3 1,300 g.°. ST, Wigen Heren gieeet e
71,450 2.9. 3R,

el seftvm T 20,000.

ULk W X 800 3. ..

A ST S argges 9w T 40,000 ST, (e S argdeh
W= g = % 27,000 3R.)

T WTeThTeRed < 2,000 = whue fommea e,

viil) @ SO STeaTd Tgard. @ arset 91 3 12,000 2. @ 3 51,000 andies

xi)

xii)

T2 WA T HUAH GRS 9 TEIUTh! el g cren @«
T 1,400 Teaeht ot .

HOAR i 1.8 TE, el R gee wda giaen o (1800 @ &)
TR Hig? HRET AR TN o hEATEE Siegl drel TR, TS S@HTeren
e HUAT .

HOT TR

)  HEAT T U TS O dadreat 10% 3ive e,

9) wEanE Wiesaerg Fefa T 35,000.

A= aTH Wiers fRatg Reade 13% wwm s @8 2 16,250.

FIEE R T 2,500 Wik,
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97 5)

off. T 8 . T Ul , T3 Y WEHTE HeR SATd. wedn fosia aw 2015-16
=N Wi W= T8, [20]

vii)

qmR < 46,000 2.4.

i gredieemedet Safia Tt g S8 T 2 87,000.
HUHIEAT ATeTehiel TR foATea qRiaet ot

TEehst < 6,00,000 @ 3% T AT (71 A Shoti<ll GeTal ATE) 1 Hatier
T, &, AT A 9% Tddias AT AR 32,

off. T e FRATEA ATefeavi U T 4,750 = sRgEdt We faet.

off. T AT T ATHRE WIS 2T AU TeAt huH JRaedn Sgd. o
U 1-5-2011 T=Ht T 60,000 &1 ©RE shet @ Gotg I 1-08-2014 st
30,000 = faema.

I hu feeean shfge = T 110,000 =it Jufther TS shell. =it R

viil) O @ 15-7-2012 it TREt hetet < 2,50,000 <t STra8et R H@9ig T

xii)

f@ 14-7-2014 3 T 1,00,000 = fereheht miex el oam wdtadt 20%
THH TETd HeaTaR JNUTNG 3112,

HUHIAT THEW el &=t T 5,000 3.
HeAA HeEr 3aad T 3,000.
AT A HeArean Hedt ek seftadiel = < 3,000 31,

AT UT A ST ATl e ¥ A® grean g < 11,200
ECERLCI

Xiil) TS 3 Gt == aifeR Tt (U9H %e) JrteF (W 80 cec) T 10,000.

AR

Xiv) = 2015-16 weA westt-es Wiers fatg fAefa 3a 3aett T 70,000.
XV) 3T i 3 H ™ A dieg et $0C 3t Feee® Ut 3. T 30,000

(SR S=@UT)

oft. E=@ =T 2016-17 A= FAE I F FEAAT FEl.
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Total No. of Questions : 5] SEAT No. :

P1207 [Total No. of Pages : 3

[4963]Ext.-606
T.Y. B.Com.
BUSINESS ADMINISTRATION - II

Human Resource Development and Marketing

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidate:

1)  All questions are compulsory.

2)  All questions carry equal marks.

Q1) Define the term “Human Resource Department”. Explain the role of human
resource department in modern business. [20]

Q2) a) Whatis succession planning? State importance of succession planning.[10]
b) What is Branding? State importance and advantages of branding. [10]
OR
a) Explain product life cycle in detail.
b) State objectives of Training and development.

03) a) What is performance appraisal? State importance of performance
appraisal. [10]
b) Explain various factors affecting pricing decisions. [10]
OR
a) Define the term “Lebelling”. Explain advantages of lebelling.
b) What is market Research? Explain the scope of market research.

04) Define the term Global marketing. Explain difficulties in Global marketing in
detail. [20]

05) Write short notes on (Any Four): [20]
a) Quality Circle.
b) Career planning.
c) Packaging.
d) Telemarketing.
e) Scope of advertising.
f)  Retail marketing.

PTO.



Total No. of Questions : 5]

P1207
[4963]Ext.-606

T.Y. B.Com.
=g aenEd — 11
(AT TEneA Torerr 3ot fegue)
(2013 427)
(TS TATR)
ga : 3 ] [ vgur 7797 : 100
gear .— 1) G 997 a9,
2) @d eI GHA .

gyzl) A YA AR WU T e YT AT HiHe e faremm
fteht TUY H. [20]

gy72) @) SN HEISH TgUTS S d AR STRITSRRI (T Hged w9 . [10]
q)  Ygiehd TEUN I ? Yoo Heed 2A1fut e forgt. [10]
feha
AH)  TESIATEsh HiOER T .
F)  Tfvreror enfor fereRredt Sfevest foran.

gp73) H) HELHA Yodich U i ? HELAl GedichTd Wged fave . [10]
9) Frma Rfzcieomer e ureom fafae gew v w0, [10]
feha
A)  NBEULE e AR TehedAT TUE 6t & W forgl.
¥) SIRUS TN TgUTH hid ? SITRUS HYNLATN SATH T8 <.



gg74)  “Amtaek faque’ HeRedat TUE oA SRTTdeR faauiTdier stgere wferer wus . [ 20]

m75) fom R (@@ Ww) [20]
) UTET TGR.
F) HERIG AN,
&) e,
g) ENHTGhIET.
3) iR S,
%) fomene fouom.
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Total No. of Questions : 5] SEAT No. :

P1208 [Total No. of Pages : 3
[4963]Ext.-607

T.Y. B.Com.
BANKING AND FINANCE
Financial Markets and Institutions in India

(2013 Pattern) (Paper - II)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define Money Market. Explain the structure and scope of Indian Money

Market. [20]
02) What do you mean by Capital Market? Explain the scope and Characteristics
of Indian Capital Market. [20]

OR
What is Foreign Exchange Market? Explain the segments and participants of
Foreign Exchange Market. [20]
03) a) State the functions of Lease Financing Company. [10]
b) State the working of Industrial Finance Corporation of India. [10]

OR
a) Explain in detail Post Office Savings Schemes. [10]
b) State the working of state Finance Corporations. [10]

04) State the functions and working of Security Exchange Board of India. [20]

05) Write notes (any two): [20]
a) MudraBank.
b) factoring Company.
c) Provident Funds.
d) Insurance Regulatory Development Authority.

VA A
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Total No. of Questions : 5]

P1208

[4963]Ext.-607
T.Y. B.Com.
BANKING AND FINANCE
Financial Markets and Institutions in India
(2013 Pattern) (Paper - II)

(FAE EUTR)

ga : 3 ] [vzr 7797 - 100
gEar .— 1) Gd 997 HE9TF 3.

2) ITEIFSIT ST TP QUT U7 FIIET.
3) @qylard ge sl geatie ggTE.

o7 1)

97 2)

97 3)

AR SAREA o121, WRA ATUTaTIRI=i AT STTUT STt |R. [20]

VST ISR TgUTS i ? WA WSl STeTRI= STt anfur afvreest @, [20]

feha
TR fafHg SR T2UTe i ? URehid fafme STeTRidie [ weT STt Jewnt e
Y . [20]
) WU FoRTEeT ShuAt e T . [10]
F) WRAE st fom qaet nemewTel R T8 . [10]
fehan
) TUTA HRITAITEA Sod JITT SR T8 &1, [10]
F) T RYTEe HewiHt wMEN T8 . [10]



gy74) undE gl fafima dee @ enfor smftd woe w0 [20]

ye75) & forgn. (o EE) [20]
) el Hh.
d)  ASq TAER HUAL.
%) wfeea fafg fed.
g) form Frammes foremma wfrervor.

[4963]Ext.-607 3.



Total No. of Questions :5] SEAT No. :

P1500 [Total No. of Pages : 2
[4963] Ext-608
T.Y. B.Com.
BUSINESS LAWS AND PRACTICES (Special Paper -II)

(2013 Pattern)
Time : 3 Hours] [Max. Marks :100
Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Explain rules regarding workers Health as per factories act. 1948. [20]
02) Explain the privileges and special rights of Registered Trade Union as per the
Trade Union Act, 1926. [20]

OR

Define wages and explain the authorised deductions from wages of workers
under the payment of wages Act, 1936.

03) a) State objectives and scope of the Employees providend fund and

miscellaneous provision Act, 1952. [10]
b) State Rights and Duties of Inspectors appointed for Inspection and
Investigation of company. [10]

OR

a) What is General Fund of Trade Union? State the objectives for which
the General Fund. Can be used.
b) Explain minimum and maximum Bonus.

04) What do you mean by social responsibilities of company? Explain social
Responsibilities of companies. [20]

05) Write shrot notes (Any two): [20]
a) Rules for payment of wages. (wages Act, 1936).
b) Morality and Business Ethics in India.
c) Provisions for protection of minority Interest.
d) Cadbury committee's Report.

Q00O
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Total No. of Questions : 5]

P1500

[4963] Ext-608
T.Y. B.Com.

BUSINESS LAWS AND PRACTICES (Special Paper -II)

(2013 Pattern)
(W& FATHR)

dz: 3 @ | [Tzor 7or ;100
ger (- 1)  @d 97 HE9IE SR

2) STEIHSIT Sk quf 0T FIHAAA.

797 1)

g972)

797 3)

g97 4)

797 5)

FHRETAT HE1, 1948 TOR HHATATA JARAFETEa (a9 T8 FH0. [20]

HTHR GEeA= SEel, 1926 3 Aedeiedl iR Tuear oo geah st

TIA €AY HA. [20]
fehent

AT SATEAT |, A SHiFET, 1936 S SIRTRIEH Aa-Tqd Shidl 0T Siferhd

HATAl TIE .

AN)  wHUN Higware Fed a fafae aggien e, 1952 3R st s @, [10]
) b Flieon anfor srgeeTTETdt Fgea soean it gern snor s

w. [10]
foben
31) HHR o= TRy el o @ ? Teifera A wiuren syt T«
AT At A G,

¥) UM 9 A SIS U 6 g T L
HYATE AT TSN FEUT el ? HU=Teal STieTeh STaTeer=n T8 . [20]

ofigerTd feun forgt. (St 9F) [20]
A) A JIEETS I (FaF e, 1936).

q) WA AT Afdehar.

F)  ACUECHHITAT (EeRETUTTETa<aT aRgat.

T) headl AiHdET AgETA.
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Total No. of Questions :9] SEAT No. :

P1501 [Total No. of Pages : 2

[4963] Ext-609
T.Y. B.Com.
CO-OPERATION AND RURAL DEVELOPMENT (Paper -II)

(2013 Pattern)

Time : 3 Hours] [Max. Marks :100

Instructions to the candidates:

1) Question No. 1 is compulsory.

2) Solve any five questions from Q. No.2 to Q.No. 9.
3)  Figures to the right indicate full marks.

Q1) What mean by co-operative management ? Describe the scope and objectives
of co-operatives Management. [20]

02) Enumerate the need and significance of professionalisation of Management in
co-operatives. [16]

03) What do you know about Human Resource Management? Comment on
co-operative philosophy. [16]

04) Define Decision making ? State the Importance of Decision making in co-
operative management. [16]

05) What mean by Registrar of Co-operatives? Describe the functions of Registrar
of co-operatives in detail. [16]

06) What do you know about financial management of co-operatives? Enumerate
the Nature and Importance of financial Management of co-operatives. [16]

Q7) Define Audit Report ? State the Importance of Audit Report in co-
operatives. [16]

08) What mean by co-operative Audit ? Explain the various types of co-operative
Audit. [16]

09) Enumerate in detail the various sources of finance to co-operatives. [16]

Q00O
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Total No. of Questions : 9]

P1501

[4963] Ext-609
T.Y. B.Com.

CO-OPERATION AND RURAL DEVELOPMENT (Paper -II)

(2013 Pattern)
(W& FATHR)

gz 3 ard | [TEor UT ;100
gEar :— 1) ¥97 3. | Qielant smavas: .

2) Y99 2 AT F. O il Hiviig! grer gv7 @il
3) SEiREIT Sk quf T FIHAAA.

797 1)

797 2)
797 3)

g97 4)

797 5)

97 6)

g977)

797 8)

g979)

gl — SATEATTA FUTS hd ? TEhNl — SATEATIATN SATH A0 e fovrg
. [20]

TETHNA STTCATIATT SHTTETIRIAISHIUTTE A TR AT Ugea forvrg =& [16]

e SATEUTIA ATTEA SATIUT ST AT ? FEhI — AeasH AR =it 4. [16]

ot emah (ot Sardt amar ) sme AR JEwit sgaremH o e sFea

Heed |, [16]
TEHN TEATEN FAaereh 10T i ? Tgehil TEATAT Aagerr ol Afeer e
0. [16]

Tl faftm ST Jiaee U K AU ? g At serunE
TEEY AT HEgea fave <. [16]

TRETIREIUT STFATAT= SAREAT ART ? RN RATIRIUT STFATATe STFAA Hged
. [16]

TEHN — AT AWIREIUT IO HE ? AR AETIRUTE S8 e TR
TIE . [16]

HEHM FEAETE SuTsyl 3 fafay fafwa art (sa) aferemr fave 0. [16]
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Total No. of Questions : 5] SEAT No. :
P1209

Time : 3 Hours]

[Total No. of Pages : 4
[4963]Ext.-610

T.Y. B.Com.

COST AND WORKS ACCOUNTING

(2013 Pattern) (Paper - II)
[Max. Marks : 100

Instructions to the candidates:

1)
2)
3)

Q) a)

b)

All questions are compulsory.

Figures to the right indicate full marks.

Use of calculator is allowed.

State whether the following statements are True or False. [5]

i)

Direct cost cannot be conveniently identified with a particular cost
unit.

i)  The time factor is ignored when the cost of material is used as the
basis for absorption of overheads.

i) Fixed, variable and semi-variable is the classification of overheads
according to variability.

iv) Anexample of composite cost unit in passenger Transport Company
is the kilometer.

v) Joint product are the result from the same common process.

Fill in the blanks. [5]

i) means the allotment of whole items of cost to cost centres.

i)  Absorption of overhead rates takes place when only after allocation
and of overheads.

i) Where the actual loss in a process is less than the anticipated loss
the difference between the two is considered to be

iv)  When profit is 20% of the selling price of a job, it is equal to
of its cost price.

v) In contract costing the total loss if any, is transferred to

account.

PTO.



02) Whatis Activity Based costing? Explain the important stages in Activity Based
costing.

OR

What is Job costing. Explain its advantages and limitations.

03) Write short notes on (any four):

a)
b)

c)
d)
e)

04) a)

b)

[4963]Ext.-610

Cost Units in Service Costing.
Normal loss in process Costing.
Value of work certified.

Joint products and By Products.

Escalation clause in Contract Costing.

[20]

[20]

[20]

A company has 3 production departments A,B,C and 2 service
departments D and E. The following data extracted from the records of

the company for a particular given period. [15]
i)  Rent and Rates 25,000

General lighting 3,000

Indirect wages 7,500

Power 7,500

Depreciation on machinery 50,000

Sundries 50,000
i)  Additional data:

Particulars Production Departments | Service Departments

A B C D E

Direct wages (%) 15,000 10,000( 15,000 7,500 2,500
Horse Power of 60 30 50 10 -
Machines
Cost of Machinery (%) |3,00,000 |4,00,000 | 5,00,000 | 25,000 | 25,000
Production hours 6,226 4,028 4,066 - -
worked
Floor space (sq.mt.) 2,000 2,500 3,000 2,000 500
Lighting points 10 15 20 10 5
From the following information, calculate room days of a Hotel (Annual)[5]
Number of rooms 300
Occupancy rate 90%
No. of days in a month 30
No. of working months in a year 7

-2 -



05) A) A product passes through two distinct processes A and B. From the
following information you are required to prepare process accounts.[15]

Particulars Process A Process B
Materials introduced 20,000 -
in Process A (Units)

Value of materials introduced 30,000 -
in process A (%)

Materials () - 3,000
Labour (%) 10,000 15,000
Overheads () 7,000 9,850
Normal loss (% of input) 10% 4%
Scrap value of normal loss < 1 per unit < 2 per unit
Output (Units) 17,500 17,000

There is no stock or work in progress in any process.

B) Bharat construction, Pune undertook a contract No. 34 for ¥ 4,00,000
on 1% April, 2014. They incurred the following expenses during the year

2014-15. [15]
3
Materials issued from stores 36,600
Materials transferred from contract No. 43 3,400
Materials purchased for the contract 10,000
Materials in hand (31 March, 2015) 2,500
Plant issued for contract 20,000
Wages paid 70,000
Architect’s fees 3,600
Wages due but not paid. 1,000
Cash received from contractee 1,44,000
Work certified 1,80,000
Cost of work uncertified 1,500

of the plant and materials charged to the contract, plant costing I 4,000
and materials costing % 3,000 were lost. On 315 March, 2015 plant costing
< 3,000 was returned to store. Charge depreciation on plant @ 15% p.a.
as per written down value method. Prepare contract account for the year
ended 315 March, 2015.

[4963]Ext.-610



OR

B) The ‘X’ Transport Ltd. operates a fleet of trucks. The records for truck
No. xxx, reveals the following information for september, 2015.  [15]

Days maintained 30
Days operated 25
Days idle 5

Total hours operated 300

Total kms covered 4,500
The following further information is made available:
a) Operating cost for the month:

Petrol X 12,000, Oil ¥ 1,700, Grease ¥ 900, wages to Driver
< 5,500, wages to cleaner 3,500.

b) Maintenance cost for the month:

Repairs ¥ 1,700, Overhaul % 600, Tyres X 1,500, Garage charges
1,000.

c) Fixed cost for the month:
Insurance % 500, Licence, tax etc. T 800 other overheads 2,300.
d) Capital cost:

Cost of aquisition % 7,00,000, Residual value at the end of 5 years
life is % 1,00,000.

Prepare cost Sheet and compute:
i)  Cost per day maintained.

i) Cost per day operated.

i) Cost per kilometer, and

iv) Cost per hour.

[4963]Ext.-610 _4-



Total No. of Questions : 5] SEAT No. :

P1210 [Total No. of Pages : 4

[4963]Ext.-611
T.Y. B.Com.
STATISTICS
BUSINESS STATISTICS

(2013 Pattern) (Special Paper - II)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3)  Use of statistical tables and calculator is allowed.

Q1) Attempt any five of the following: [10]
a) State addition law of probability.
b) State additive property of binomial distribution.
c) Compute °C |
d) IfP(A)=0.6,P(B)=0.4, P(ANB)=03, find P(AUB).

e) A coinistossed 20 times and following sequence of heads (H) and tails
(T) is obtained:

HTTHHTTHTHHHTTHHTHHH
At 5% level of significance check the unbiasedness of a coin.

f)  Define Bernoulli distribution, state its mean and variance.

02) Attempt any four of the following: [20]

a) A husband and wife appear for two vacancies in the same post. The

probability of husband selection is % and that of wife is % What is the
probability that—
i)  both of them will be selected?

i) only one of them will be selected?

PTO.



b)

d)

In an health survey on the relation between condition of mother and her
child, revealed the following results:

Condition Condition of child
of mother| | Clean Dirty
Clean 12 26
Dirty 16 06

Does there exist any relation between condition of mother and her child,
at 5% L.O.S. [ Given 7, =3.81, 7,° =5.99, 7, = 7.81]

In all 5% housewives in Nashik do not use kerosene as a fuel. If a
sample of 50 housewives is selected at random in Nashik, what will be
the probability that 4 housewives in the sample do not use kerosene as a
fuel. [given e2°=0.218].

A sample of 400 male students is found to have mean weight of 50.47
kg. Can it be regarded as a sample from large population with mean
weight 52 kg, given that population standard deviation is 1.2.kg?
[Use a = 0.05]

Define independence of two events and mutually exclusive events. Can
two events be independent and mutually exclusive simultaneously. Justify?

03) Attempt any four of the following: [20]

a)

b)

Following are the responses to the questions “how many hours do you
study before an exam?”

651225753747

Use sign test to test the hypothesis at 5% level of significance that the
median numbers of hours a student studies before an exam is 3.

A Computer Operator claims that she can type at the rate of 100 words
per minute on an average. In 10 trials she typed at an average rate of 116
words per minute with standard deviation 15 words. Can we accept her
claim at 5% level of significance?

The mean life of sample of 10 electric bulbs was found to be 1456 hours
with standard deviation 423 hours. A second sample of 17 bulbs chosen
from a different batch showed a mean life of 1280 hours with standard
deviation of 398 hours. Is there a significant difference between the means
of two batches? Use 5% level of significance.

[4963]Ext.-611 2.



d) A discrete random variable X has following probability mass function

(p-m.f)

X
P(X=X)=g, x=123
=0, otherwise
Obtain mean and standard deviation of X.
e) Explain the following terms:

i)  Hypothesis

i) Pvalue

i) Critical Region

04) Attempt any two of the following: [20]
a) Memory capacity of 10 students was tested before and after training.
State whether the training was effective or not from the following scores.
Roll No. 112 3|4|5/6|7(8]9]10
Beforetraining| 12 (14 11| 8| 7|10 3|0 |5 6
Aftertraining | 15|16 10| 7|5(12|10({ 2 |3| 8
b) A die is tossed twice.

i)  Write sample space of this experiment.

ii) A discrete random variable X denotes Sum of integers appearing
on the uppermost faces. Write down its probability and cumulative
probability distribution.

iii) Find mean and standard deviation of X.

c) 1)  Describe test procedures for testing H : P =P against H: P#P,.

i) Inasample of 1000 people in Maharashtra, 540 are rice eaters and
the rest are wheat eaters. Can we assume that both rice and wheat
are equally popular in this State at 1% level of significance?

d) 1) Describe the test procedure of large sample test for equality of
population means.

i)  The means of two single large samples of 1000 and 2000 members

are 67.5 inches and 68.0 inches respectively. Can the samples be
regarded as drawn from the same population with standard deviation
2.5 inches at 5% level of significance?

[4963]Ext.-611 3.



05) Attempt any two of the following: [30]
a) The joint probability distribution of (x,y) is given below:
X! 0 1 2 3

Y
1 K 3K SK 2K
2 2K K K K
3 3K 2K K K
Obtain:

i)  The value of K

i) marginal probability distribution of X and Y

i) P(X+Y>3)

iv) Conditional probability distribution of Y given X =2
v) Are X and Y independent?

b) Life expectancy in 10 regions of Maharashtra in 1980 and 12 regions of
Mabharashtra in 1990 is as follows:

1980 | 37|39 |36 (35|44 45|50 |41 |44 |42
1990 | 44 | 4547|143 |42 (50|52 |48 |51 |43 (46 |49

Test whether population variances are same? [Use 2% level of significance]
c) LetX ~ N (100, 64), Find:

) PX<L110)

i) P(X>80)

i) P(104<x<114)

iv) P (88 <X <108)

v) E(Y)and Var (Y), where Y =4X + 10.

[4963]Ext.-611 _4-



Total No. of Questions : 5] SEAT No. :

P1211 [Total No. of Pages : 3
[4963]Ext.-612

T.Y. B.Com.
BUSINESS ENTREPRENEURSHIP

(2013 Pattern) (Paper - II)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1)  All questions are compulsory.

2)  All questions carry equal marks.

Q1) Define the term ‘Small Scale Industries’ Explain the role played by SSI in the
development of Indian Economy. [20]

02) Explain the steps involved in the formation of a Small Business Venture. [20]
OR
What is ‘Ratio Analysis’? Explain the types of Ratio Analysis.

03) Answer any Two questions from the following: [20]
a) Explain the financial assistance made by SFC to Small Industries.
b) Explain the financial & marketing aspects of Business plan.
c) Explain any three approaches of Small Enterprise Management.
d) Write a success story of One Entrepreneur in your region.

04) What is ‘Business Sickness’? Explain the Internal & External causes of
Business. [20]

05) Write short notes (Any Two): [20]
a) District Industrial Centre
b) Importance of Business Plan
c) Creativity & Innovation
d) Project Report

PTO.
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P1211
[4963]Ext.-612
T.Y. B.Com.
BUSINESS ENTREPRENEURSHIP
(2013 Pattern) (Paper - II)
(FET ®UTR)
3= : 3 ar] [ 75T 770 : 100

gerdr i~ 1) & 97 TS Savae .

2)  @d FEHIAT G JOT SR,
3) d@eylaidt qes Ul gvTaAET UETe.

o7 1)

797 2)

797 3)

Y AR AT FehReUH ARG T AR Siefeaerdrea faehme o1g e
fteht TUY H. [20]

YN SHTETATEH TATIAT FHOATATA TTE=1 T . [20]
fehan

WTeeTiehl g ST I . [20]
H) T ol AEHEST HEA oY JTRTHT Shet AU forwia HTel T .

q) AEEI ARG o 9 fauuA Ue] T .

®) oY e HASEATIATA HIVAE A gERIA T H.

g)  qHTH WRIRIS a9t SesTehrelt aommen fotgr.

-2 -



g974)  SATEEIEeh ATSTRYUT TZU <R ? SATETEeh SATSTRUUITE idiTd o STel iRl T

. [20]
gg75) Rw . (vt 3F) [20]
A) Seg = e

d) AEHIEH ARG Hgw
%) ESHYICTAn & A

g) Uhed EATA
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Total No. of Questions : 6] SEAT No. :
P1212

[Total No. of Pages : 4

[4963]Ext.-613
T.Y. B.Com.
MARKETING MANAGEMENT - 11
(2013 Pattern) (Paper - II)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) What are the methods of 'Sales Forecasting'? [16]

02) What do you mean by 'Bench Marking'? Explain the advantages of 'Bench

Marking'. [16]
OR
Define the term 'Marketing Planning'. Describe the process of preparing 'Market
Plan'.
03) a) Explainthe element of 'Marketing Plan'. [8]
b) Give the limitations of 'Sales Budget'. [8]
OR

a) What are the objectives of Social Marketing?
b) Explain the factors affecting 'Marketing Organization'.

04) Explain the features and types of 'Agricultural Product'. [16]

05) Explain the importance of Consumer Protection Act - 1986 with reference to
Marketing Management. [16]

OR

What do you mean by 'International Marketing'? Which are the problems
and challenges of International Marketing.

PT.O.



06) Write short notes (Any two) : [20]
a) Marketing in 21* Century
b) Defectsin Agricultural Marketing
c) Trade Mark Act - 1999

d) Distinguish between International Marketing and Domestic Marketing

SISIS
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Total No. of Questions : 6]

P1212
[4963]Ext.-613
T.Y. B.Com.
oo saamaa - 11
(2013 U2H) (Paper - II)
(T3t waTar)
gez : 3a1d] [ Tgor o7 - 100

gear ;1) §d gv7 qISE0 H1a9aF AHTE.
2) IGFIwSIeT & TYATE U JUT Folaard.
3) @gyrard? ger swst gvaalasT ugrdl.

g7 1) Yokt fowaer i adfevarea fafay geadt woren ? [16]

gy72) ‘umees-fRuior’ gue @ ? uuee R fafay wee s [16]

feRan
“Forgqu e an S9=it sareaT . fogue Feaise TR wtvart afsean
FTEATqul TUeC 0.
g7 3) 31) fouum Feeme uew T . [8]
EVEREEIRCHEREC IR DI 1 [8]
feren

1) "t fauumTd 3 S ?
F) guTel fouue deeas savee uew .

T97 4)  HHEl SeATGATHT ATIMCSA SATIUT ThR TUSE <l [16]

T97 5) UTE WL h1EET — 1986 = HEged fUu SHEwATIATEAT ST Tt &l [16]
feRan
ATARTEET o ot &1 ? rTarediar ferguran eater strege tmfotr waen
HIUTCAT.



797 6) e feun forer. (woretd 3M)
&) 21 = viashTer Rraum
%) e FrauATe sofeT
%) camr feg wEar 1999

g) oraw fauum srfor zenfes fooum ardter Wi Tt .
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Total No. of Questions : 8] SEAT No. :

P1213 [Total No. of Pages : 4

[4963]Ext.-614
T.Y. B.Com.
AGRICULTURAL AND INDUSTRIAL ECONOMICS
(2013 Pattern) (Special Paper - II)

Time :3 Hours] [Max. Marks : 100
Instructions to the candidates :
1) Question No.l is compulsory.

2) Attempt any Five from question No. 2 to 8.
3) Figures to the right indicate full marks.

Q1) What is Agricultural productivity? Explain the causes of low productivity of
Agriculture in India. Suggest the measures to improve it. [20]

Q2) Take abriefreview of institutional land reforms in India. [16]

03) Explain the types of agricultural labours. Explain in brief the measures used
by government to eliminate the problems of agriculture labours. [16]

Q4) Discuss the importance of declaration of minimum support prices and
purchasing of food grains by government in solving seasonal fluctuation in

agriculture. [16]
05) Explain in detail the broad features of Industrial growth in India. [16]
06) Answer in brief: [16]

a) Explain the arguments against privatisation of public enterprises.

b) Explain the causes of industrial disputes.

PT.O.



Q7) Explain the progress & problems of Iron & steel Industry in India. [16]
08) Write short notes on: [16]
a) Therole of IDBI in industrial finance

b) Social security and welfare measures

SISIS
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Total No. of Questions : 8]

P1213
[4963]Ext.-614
T.Y. B.Com.
HET T SATEAReh A0S
(2013 1Z\I'ZT-CT) (Special Paper - II)
(T ' 4qTaR)
gez : 3a1d] [Tzor 7or - 100

gear :—1) F9q 97 HEarE 378

2) ¥PT . 2 @ 8 Ul Fivrdgl urer ¥ @igar.
3) I9diEStT 3w gyvara gul qur FIifaar.

97 1)

97 2)

797 3)

g97 4)

797 5)

797 6)

VA= IcUTehaTl TUTS hid ? WRATATA Il ScuTdehdl ShHT AHUITT HIOT
A o GURUATETS! U FIET. [20]

WRATATA HEATHS THIH GURUTAT AiSaTd ATETal =l. [16]

SUTT ATSHITd TS ol [16]
JrAtdier FTH TEIAR HHI FAUATHTS! TR FTER herell AT TSR
forma orTfUT erwuT=Tel WEN AEcd TUeE . [16]
YRATA A SRR Fedieht Seoeh dfvrees Al Tuse . [16]
JrEFaTd I forar. [16]

) WTENHS ISANTEAT WIS ThIUTTREg IehiaTg Ta .
) AT TouTdl S0 TIE H.



gy7 7) HRATAA AEGE —UTelle SSATTTe WTelt T o T o, [16]

Ty7 8)  oIswTd dut forer. [16]

3T) SR foasaTdier WA SigaIRIeh faehTa schel HIHeAT.
q) WTHTNTG GILAAAT AT FHeATUTRT IUTE.
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Total No. of Questions : 4] SEAT No. :
P1214

[Total No. of Pages : 4

[4963]Ext.-615
T.Y.B.Com.
DEFENCE BUDGETING, FINANCE AND MANAGEMENT

(Special Paper - II) (2013 Pattern)
Time :3 Hours] [Max. Marks : 100
Instructions to the candidates :
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Answer in 20 Words each (any ten): [20]
i)  Define strategic planning.
i)  What do you mean by estimate budget?

iii) What are the sources of armaments procurement for third world
countries?

iv) What is threat perception?

v)  Define zero budgets.

vi) Write any two methods of war finance.

vii) What is dual economy?

viii) Define performance budget.

ix) Define deficit finance.

x)  What do you mean by war potential?

xi) State the meaning of Non-productive defence expenditure.
xi)) Write any two merits of DPSU.

xiil) Write any two merits of war time economy.

PT.O.



Q2)

Answer in 300 Words each (any two): [30]
i) Discuss importance of logistics in defence preparedness.
ii) Establish relationship between defence vs development.

ii)) Explain relationship between performance budget and military expenditure.

03) Answer in 300 words each (any two): [30]

04)

i) Explain government policies towards armament production in India.
i) Discuss organizational aspects of decision making.

iii) Describe status of indigenous arms production in India.

Write short notes on (any two): [20]
i) Problems and prospects of arms production in India.
i) Role of DPSU in India’s defence production.

i) Principles of logistics.

SISIS
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Total No. of Questions : 4]

P1214
[4963]Ext.-615
T.Y.B.Com.
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
(Special Paper - II) (2013 Pattern)

(TS TUTAR)
gez : 31d] [ Tgor 7o - 100

gear :—1) @d 97 TISA0 H1a99FH HTE.
2) ITFIHSIT 3HH [UT FIIAAIA.

o7 1) 20 vegTa IW AT, (FRIVIAE T2) [20]
i) “‘amfes FEea’ s @
i) ofeTS A 3refHehey TEUS & ?
i) e ST e YT Ut SHETS ShIuTd ?
iv) OreRTieEel HeheuAT TR i 7
v) o wsie’’ s @ .
Vi) geafeit HehodaTeaT g Uegd! Tg .
vil) ST SHIATHI TEUTS 1T ?
viil) HTEITYTE AYEHhed SATEAT &l
ix) ‘‘Tedhifere waAme’’ w0
X) gLEAHAT FEUSH &1 ?
xi) ‘ergcuTgeh TR @Y 3¢t foran.
xii) .9t ua.g. o gF TuiaH forar.
Xiii) FeqeRTeliA SrefeaEds wioadl S Tured ferer.



797 2)

797 3)

797 4)

300 vrsETa ST =T, (R ) [30]
i) TRV ATt ASTeIaEd=al WgcaTaust Ja<i .

i) TRETUT Tt SATIUT ferehTa HTishT ITeier TSl TUse .

i) HETHTE NAHRET HTUT TSIV @ AT A TG TACE .

300 vrsaTa IW AT, (HIUTAE 3) [30]
) HRATHE IS SedTeATaTaae WA Seha 0T TUt .

i) o TR TgedTeHs el fawet @t .

i) WRATAE HAYA—FaQIN IEATET IeuTgATe Feaeefidia qui .

JrgeTa Aut forgt. (shruragt 29) [20]
) HWRATHE YT SeaTe-Teal THET HATUT wieasd

i) WRATEAT TRV IeATGATAI HIAeh ST Jireht

iil) YISt SATEATIATET e
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Total No. of Questions :9] SEAT No. :

P1502 [Total No. of Pages : 2
[4963]|Ext.-616

T.Y. B.Com.
INSURANCE, TRANSPORT AND CLEARANCE (Paper -II)

(2013 Pattern)
Time : 3 Hours] [Max. Marks :100
Instructions to the candidates:
1) Question No. 1 is compulsory.
2) Solve any five questions from Q. No.2 to Q.No. 9.
3)  Figures to the right indicate full marks.

Q1) What mean by life Insurance? Explain in detail the claim settlement procedure
of life Insurance. [20]

02) What do you know about Insurance Business? State the effects of Privatization
on Insurance Business. [16]

03) Distinguish between Nominations and Assignments. [16]

04) Describe the main provisions of Insurance Regulatory and Development Act
(IRDA). [16]

05) Define General Insurance? Explain the Accidental Benifits and disability benefits
of General Insurance contract. [16]

06) Enumerate the current trends of General Insurance in Global Business. [16]

07) What do you know about forfeiture of policies? Explain the methods of payment
of General Insurance. [16]

08) Enumerate the objectives and provisions of Insurance Amendment Act.
2002. [16]

09) What mean by Insurance Agent? Explain in detail the role of Insurance Agent
in Insurance Business. [16]

Q00O

PTO.



Total No. of Questions : 9]

P1502
[4963] Ext.-616
T.Y. B.Com.
INSURANCE, TRANSPORT AND CLEARANCE (Paper -II)
(2013 Pattern)
(WSt FUTR)
gz 3 ara | [Tzor 7or ;100
gEar :— 1) ¥97 3. 1 @isfav savas 3igd.
2) §¥AF 2 AT . 9 TdE]l FviAg qrer g7 @i
3) SEiREIT Sk quf T FIHAAA.

gy71) SN TEUR I ? ST JhEH WRUTE esfauaTel Rttt T .
[20]

gg72)  fam saa@mEreEe Ul s ST ? fom sremmEme Wit e o sreErrer
FIUTR TR TR, [16]

gy73)  awr@Are (Nominations) 31Ut &R U (Assignments) 31 Srameiel Wieh €08
. [16]

gv74)  Tom FamArae sufur faema saeerean (IRDA) u&a aqgl e e . [16]

Ty75)  wE Enenut ot e Wi ? |e WLt o it SOt WEe & ST
o e T . [16]

Ty76) RIS SAIEE T @t e sngfek warg (Trends) v . [16]

g977) Uiyl AT (Afeisl deuidicl SeTcie HRaTE) 91 9ect AUl Shid SuTar ? o
TremuT ferrrh O QU Heutdiet ueatt TaY . [16]

gy78) 2002 T fomn GURuN SHEeT e ST awd favtg . [16]

gy79) fom - ueie (ufafch) o w@ ¢ o soowmmE fom uees sroeet aften
iR TE *=1. [16]
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Total No. of Questions : 5] SEAT No. :

P1503 [Total No. of Pages : 2
[4963]Ext - 617
T.Y. B.Com.
COMPUTERAPPLICATION -11

Computer Networking & Cyber Security

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

3)  Neat diagrams must be drawn wherever necessary.

Q1) Attempt any ten of the following : [20]
i)  Define the term cryptography
i)  Define the term logical address.
ii) List the types of communication.
iv)  What do you mean by connectionless services?
v)  Define the term protocol.
vi) Define the term computer Network.
vil) What do you mean by malicious code?
viii) What is a threat?
ix) What is the purpose of NIC?
x)  What do you mean by microwave transmission?
xi) Define the term security.

xil) Define the term weak password.

PTO



02) Attempt any four of the following : [20]

a) Explain in detail the types of networks.
b) Explain in detail the security issues in wireless networks.
c) Compare bet ISO - OSI and TCP/IP model
d) What are the properties of the DP address?
e) Explain in detail the components of NIC.
03) Attempt any four of the following : [20]
a) Explain in detail the categories of cyber crime.
b) Explain in detail the MAC sublayer of Fast Ethernet.
c) Explain in detail the fiber optics cable propagation modes.
d) Explain in detail the architecture of the Bluetooth.
e) Explain in detail the tools and techniques of cryptography.
04) Write short note on (any four) : [20]
a) [P Addressing
b) Public key Infrastructure
c) Types of communication
d) Digital signatures
e) E-Commerce security
05) Attempt any four of the following : [20]
a) Explain in detail the different generations of wireless networks.
b) Explain in detail the data link layer of IEEE standard.
c) Explain bus topology with the help of a diagram.
d) What are the various modes of communications? Explain any one in
detail.
e) Explain in detail the categories of cyber crime.

S

[4963]Ext-617 2



Total No. of Questions : 5] SEAT No. :
P1215

[Total No. of Pages : 2

[4963]Ext.-618
T.Y.B.Com.
BUSINESS ADMINISTRATION (Paper - III)

Finance, Production and Operation Functions

(2013 Pattern)

Time :3 Hours] [Max. Marks : 100
Instructions to the candidates :

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) What is Under-capitalisation? Explain the causes and effects of Under-
capitalisation. [20]

02) Define 'Money'. Explain the functions of Money. [20]
OR
What is Debentures? Explain the features and types of debentures.

03) a) Explainthe steps in financial planning. [10]
b) Explain the elements of production control [10]
OR

a) Explain the need of working capital.
b) Explain the importance of Supply Chain Management.

04) Whatis Material Handling? Explain the modern devices of Material Handling.[20]

Q5) Write short notes on (any two): [20]
a) Disadvantages of Public Deposits
b) Functions of Finance Manager
c) ABC analysis
d) Batch production

SISIS



Total No. of Questions : 5]

P1215
[4963]Ext.-618
T.Y.B.Com.
BUSINESS ADMINISTRATION (Paper - III)
Finance, Production and Operation Functions
(2013 Pattern)
(TS TUTAR)
gez : 3ard] [Tor 7or - 100

gear :—1) @ T¥7 HTITIIH STEd.
2) 3IwAIHEIT IHH QU U FYAArd.

g7 1) g7 HISTAIHOT TgUTS i ? I HISTEH [RLUTTE ShiRuT SATTOT URUTH Toee . [20]

gg72) AT - SATEAT oI, UM R TUSE . [20]
ICEl
TR ET TgUTH R ? holIEAT= Sl a TehR TISE .
gy73) 31) foxia P ura=n wose &, [10]
)  Ieuted HEEuTR gew T . [10]
ICEl

) WSl UgTAT T TIE .
) UIEST UrEd! SATEATIAT HEged TUSe il

97 4) AT FTATHUN TEUTH hid ? WTHI graTesuitet g wied Tuse &, [20]

g7 5)  dun e (roreatd 9m) [20]
) TrEwEE S qre
¥) fom sgeEaTUeETER wE
®) oT-F- fawemo
g) o UigewH
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Total No. of Questions : 5] SEAT No. :
P1216

[Total No. of Pages : 2

[4963]Ext.-619
T.Y. B.Com.
BANKING AND FINANCE

Banking Law and Practices in India

(2013 Pattern) (Paper - III)

Time :3 Hours] [Max. Marks : 100
Instructions to the candidates :

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) What is Negotiable Instruments? Explain the types of Negotiable instruments.

[20]
Q2) Explain the relationship between Banker and Customer. [20]
OR
What is Mortgage? Explain the types of Mortgage.
03) a) Explain the statutory protection to collecting banker. [10]
b) Explain the Bankers obligations of secrecy of Accounts. [10]
OR
a) Explain the statutory protection to paying banker.
b) Explain the steps in project Appraisal.
04) Explain the Legal Measures of Recovery of Loans. [20]
Q5) Write short notes on (any two) [20]

a) Precautions to be taken by bankers while giving advances.

b) Amalgamation of banking company.

c) Banking Regulation Act as applicable to Co-Operative Banks.
d) Return of cheques

SISIS
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Total No. of Questions : 5]

P1216
[4963]Ext.-619

T.Y. B.Com.
BANKING AND FINANCE
Banking Law and Practices in India
(2013 Pattern) (Paper - III)
(T ' 4qTaR)
gez : 3ard] [Tor 7or - 100
guar :—1) @ 97 QISE0 IH1T9qH STEHd.

2) 3IwAIHEIT IHH Ul U FYFArd.
3) @gufare? gz suSt gvIafaeT ugTEl.

g7 1) AEHYH TEAVES FEUTS I ? AN qEavasTe fafay TR s w11, [20]

gy7 2) ok TEUA I ? Sk AU YTgeh ATHTATS ATACSE T T, [20]
femar
TETUT FEUTSH ST ? TR0 SRR ¥ .
gg7 3) 3N) aHct Schell HIBUTR HIASIR TILAUT TUSE . [10]
) WA THAHEE Sohaiiel S T . [10]
femar

) UG SehelT STHUTR HTICIR FILIUT TASE T,
d) Tehed HoAHTUATAT oT5] ¥ hl.
97 4) e SEETAT HEFASIR SUTTATAT T HT. [20]
gg7 5) ongedra At fegr. (g 3e) [20]
) el AT dehd TTIAT= ShTBST
¥) AN HUETS Tehs R

F) HWEHN AR AN deh AT v FHrEE.
) YT UId UTSforur
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Total No. of Questions : 6] SEAT No. :

P1504 [Total No. of Pages : 4
[4963] Ext. - 620
T.Y. B.Com.
BUSINESS LAWS AND PRACTICES

(2013 Pattern) (Special Paper - 1)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3) Calculator may be used.

Q1) Define the company Auditor. Explain the Duties and Rights of an Auditor of
company. [18]

02) Explain the procedure of Registration under central sales Act, 1956. [18]
OR
Explain the rules and provisions of Acceptance of Deposits by company.[18]

03) a) Explain the objects and features of service Tax [8]

b) From the following details cmpute 'CST' payable by a dealer carring on
Business in New Delhi turnover Rs. 16,00,000/- Which is included the

following [8]
i) Trade Commission for which credit notes have to be issued
separately Rs. 48,000
ii) Installation charges Rs. 25,000
ii) Excise duty Rs. 80,000
iv) Freight, Insurance and Transport charges recovered separately in
Invoice Rs. 60,000
v)  Goods returned by dealer within six months of sales but after the
end of the year. Rs. 40,000
vi) Central sales Tax @ 4% Buyer issued 'C' forms for all purchases.
OR
Define Dividend and Interest. State difference between Dividend and
interest. [16]

PT.O



04) Define the concept of company secretary. Explain the position, Duties and

Liabilities of company secretary. [18]
OR
Explain the registration of service Tax. State types of Assessment of service
Tax. [18]
Q5) Write short notes on (any two) : [18]

a) Mortgage and charges.

b) Surrender of patent

c) Scope of customs Duty Act.

d) Qualification of company secretary.

06) Explain Borrowing methods of the company. [12]

S
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Total No. of Questions : 6]
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3z : 3 @]

1)
2)
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4)

[4963] Ext. - 620
T.Y. B.Com.

BUSINESS LAWS AND PRACTICES

(2013 Pattern) (Special Paper - 1)

(AT3T HATAR)
[T 71 : 100

e g9 31fart .
ITEREA 37k YUl T[0T Evifadrd.
TherarIeie JTuRal IS,

TS Hob SUSH Teureht Ugre.

w7 1)

97 2)

797 3)

HOA! YU F2UTS i ? U1 Eoiaauran it shasd 9 TR Tug . [ 18]

Fia fershieR srrrestiaia iguitel sridgd e o1, (e fafsrem wnreran, 1956)[18]

fren

HUITTS St FearRruaTaTeaa fFem 3 gt TE . [18]

) e w3 9 b we = [8]
gdie Wifgdiedn SR e SeeE ®. 16,00,000 smum=n feeeiidie
=TT Shaia ke e [8]

)

)

ii)
iif)
1v)

v)

vi)

N HUYH /AT (SR ol sheie AR fdeet 3R.) . 48,000
SEfeuaTen /wemgAt @ (Installation charges) ®. 25,000
st X (Excise duty) %. 80,000
ure, forn snfot amgees T (fertehTa TasduT STERRUATA SATee 311R)
. 60,000
fershiaTg wet ufemama wig ol @i ST WA shetell Hiel
%. 40,000
et farshierren X 4% IR, TEERA Td TeEEt 'C' wid faeren
2.
fehent
&, [16]



g7 4) wut Faeuia o % ? Ut faeuiiamr SRRyt Tem, wdea @ SeEeen Wy
w0, [18]

feRan
TR HESATE VTR AQU o HTeh JTERRUME TR T8 . [18]

797 5) e fow fere. (o 9e) - [18]
HA)  TIEOT AU S
d) Uece HUU
W) SR J[ech hIIGUT SATHI
) o Foeuiamh e

97 6) HUATEA] FHeIhIEUATeAl Ugdt T . [12]
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Total No. of Questions : 5] SEAT No. :

P1505 [Total No. of Pages : 4
[4963] Ext. - 621

T.Y. B.Com.
CO-OPERATION AND RURALDEVELOPMENT (Paper - I1I)

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define Co-Operative Marketing. Explain the different Types of Co-operative
Marketing. [20]

02) Whatis meant by Pricing? Explain the Objectives and Significance of Pricing.|20]
OR

Explain the Concept of Marketing Research.State the Scope and Need of
Marketing Research in Co-operatives.

03) a) State the Factors Influencing Marketing Strategy of Co-operatives. [10]
b)  Write a brief note on Agricultural Marketing. [10]
OR
a) State the Objectives of NAFED

b) Explain the Organizational set-up NAFED

04) Explain in detial Organization Setup and Functions of Agricultural Produce
Market Committee. [20]

PTO



Q35) Write short notes (any two) :

a)
b)
c)
d)

Problems of Agricultural Produce Market Committee.

Strategy for Exporting Agricultural Produce.
Cotton Co-operatives.

Agricultural Co-operative Processing.

S
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Total No. of Questions : 5]

P1505
[4963] Ext. - 621
T.Y. B.Com.
CO-OPERATION AND RURALDEVELOPMENT (Paper - I1I)
(2013 Pattern)
(A3 HUTAR)
3@ : 3 ] [ o5 797 - 100
goAr: 1) A YA A STava 3.

2) IEIRS 3ieh YuUT 0T GYiferTE.

w7 1)

o))

797 3)

797 4)

TEHN fIUHET=R e |, Tghit R S TR T8 . [20]

rra o e fhRwed=n sfeR enfut wewa = =, [20]
e

frum FvneET= Heheurl TIE 1. AR fauE EviieAml SrEee sar

SATfoT TR |,

) FEHNEA fOUuE SgTeReR THTE UTSUIR 9§, [10]
F) o fauuE AR oigeEm fou forar. [10]
fepen

H) ke 3R @AM

q)  AThST HHEATHS AT T8 .

Y ICUT AR WHA! TEEATHE TOHT ST T Tt T8 . [20]



g7 5) few ferr. (o G) - [20]
) HY IUF TR AT THE
F)  HN ScUIed A ETdeTet sEeet SgTe
%) TEehl FarwRoft FEen
¥) HEeRM HHl TR ITART

e
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Total No. of Questions : 5]
P1217

SEAT No. :

[Total No. of Pages : 4
[4963|Ext.-622

T.Y.B.Com.
COSTAND WORKS ACCOUNTING (Special Paper - I11)

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:-

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of calculator is allowed.
Q1) A) Fillinthe blanks (any five) [5]
a) _ isthe aggregate of fixed cost and profit.
b) Budgetary control is a of costing.
c) __ costing enables different firms to compare the costs.

d) MIS helps the management in taking

e) The object of is to ascertain the correct cost of farming
activity.
f)  Section deals with the disqualification of cost auditor.

B) State whether the following statements are true or false (any five)  [5]
a) All variable costs are included in marginal cost
b) Budgetary control does not operate through different budgets.
c) Standards require continuous revision

d) Uniform costing does not help free exchange of ideas among the
participating members.

e) Inventory valuation is the most difficult aspect of farm costing.
f)  Cost Audit report is submitted to the shareholders

02) What is meant by inter-firm comparison? Explain the limitations of inter-firm
comparison. State the measures to overcome the limitations. [20]

OR
Define MIS. Explain the objectives and advantages of MIS.

PTO.



03) Write short notes (any four)

a)
b)
c)
d)
e)
)

04) A)

B)

Budget manual

Uniform cost manual

Importance of standard costing

Limitations of farm costing

Duties of cost Auditor

Cost Audit programme

The sales and profits during the two years were as follows:

Year Sales(3) Profits(3)
2015 40,00,000 4,00,000
2016 50,00,000 6,00,000

You are required to calculate:

p/v Ratio

Fixed cost

BEP

Sales required to earn a profit of ¥ 8,00,000
Profit made when sales are ¥ 70,00,000

[20]

[15]

Deep manufacturing co. Ltd. produced 100 units of product ‘A’. You
are required to calculate material price variance and material usage variance
from the following information.

Standard quantity : 40 kgsper unit

Actual quantity : 50kgsper unit

Standard price :3 50 per kg.

Actual price : 40 per kg

4963] Ext.-622 2
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05) A)

B)

The standard mix of one unit of production is as follows: [15]
Material ‘A’ 80 kgs@ X 20 per kg =3 1600
Material B 100 kgs@ X 25 per kg =3 2500

Totalm 34100

During the month of January 2016, 10 units were actually produced
and consumption was as follows:

Material ‘A’ 1000 kgs@ % 18 per kg =% 18,000
Material ‘B’ 960 kgs@ X 27 per kg =% 25,920
Total m T,%O
Calculate :
a) Material cost variance
b) Material price variance
c) Material usage variance
d) Material mix variance
A firm gives you the following data: [15]
Standard time per unit = 2.5 hours
Actual hours worked = 2000 hours
Standard rate of wages =% 2 per hour
25% of the actual time has been lost as abnormal idle time
Actual output = 1000 units
Actual wages =% 4500
Calculate:
a) Labour cost variance
b) Labour rate variance
c) Labour efficiency variance

d) Labour Idle time variance

OR

[4963]Ext.-622 3



B) From the following figures, prepare cost sheet for crop and dairy for the

year ending 31/03/2016. [15]
a) Items stock on 01/4/2015 stock on 31/3/2016
Crop 7,500 9,000
Growing crop 5,500 8,000
Seeds 4,000 5,000
Cattle 1,40,000 2,00,000
Cattle food 19,000 10,000
Fertilizers 8,000 6,000
b) Purchases during the year ending 31/3/2016
Seeds %29,000
Fertilizers %6,000
Cattle % 78,000
Cattle feed %25,000
c) Sales during the year ending 31/3/2016
Crop 351,000
Cattle 70,000
Milk Z19,000
d) Administrative expenses incurred ¥ 12,000 during the year ending
31/3/2016 are charged to crop and dairy in the ratio of 2:1
e) Workers and proprietor have consumed the following:

Items Workers(3) Proprietor ()
Milk 3,000 2,500
Crops 4,500 2,000

4963] Ext.-622 4
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Total No. of Questions : 5]

SEAT No. :
P1218
[Total No. of Pages : 4
[4963]Ext.-623
T.Y.B.Com.
STATISTICS
Business Statistics (Special Paper - I1I)
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:-
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of statistical tables and calculator is allowed.
Q1) Attempt any five of the following;: [10]

a) Explain pay-off matrix in game theory.

b) Define the term simulation.

c) Explain the term ‘pessimistic time, in PERT.

d) Obtain the saddle point for the following Game:
Player B

13 17]

Player A I—lS 15

e) The profit function P for output X is given by
P(X)=X?*-4X + 6.
Find marginal profit for output 10.
f)  For the information given below find EMV for act A.

States of nature
Acts
X Y Z
A -20 200 400
B -50 -100 600
C 200 -50 300
Probability 0.3 0.4 0.3

P.T.O.



02) Attempt any four of the following:

a)

b)

d)

Solve the following game:

Player B

3 8 -4
Player A 10 11 13

12 14 8

[20]

Explain construction of p charts for number of defectives.
State and explain dominance principle in game theory.
If C(x) = 8x* + 10x is the manufacturer’s total cost equation, find:

i)  the average cost
ii) the marginal average cost.

For the following pay-off table find the optimal strategy by

i)  Hurwicz Alpha Criterion (o0 = 0.8)
i) Laplace Criterion

N N N, N
S, [14 9 10 5
s, |11 10 8 7
S, |9 0 1 13

03) Attempt any four of the following:

a)
b)

Explain Chance and Assignable Causes.
Explain the following terms:

i)  Expectation of life

i)  Arrival rate

i)  Utilization factor

iv) Queue discipline

Given the following pay-off matrix

[20]

Strategies States
N, N, N, N,
S, 14 10 5 13
S, 8 16 19 11
S, 17 13 12 14

Determine the optimal strategy under:
i)  Maximax criteria

i) Maximin criteria

[4963]Ext.-623 2



d) Forthe following network find all paths and identify the critical path.

e) Givenbelow is the information about a project regarding different activities.
All time estimates are in days.

Activity [122 | 1-5 | 23 | 24| 34| 45| 56
|2 3 6 5 5 3 1
t: |5 | 12| 9 | 14| 8 6 4
t: |8 |21 | 12| 17| 1| 9 7

i)  Determine expected time estimate and variance for each activity.

i)  Given the total estimated completion time as 32 days with
variance 5 days. What is the probability that the project will be
completed within 29 days?

04) Attempt any two of the following: [20]
a) 1) State purpose of replacement problem.
i) The maintenance cost and resale value per year of a machine whose
purchase price is Rs. 10,000 is given below:

Year Maintenance Cost Resale Value
(in Rs.) (in Rs.)
1 2000 7000
2 2200 5500
3 2400 4000
4 2600 3000
5 2800 2000
6 3200 1000
7 3700 1000
8 4500 500

When should the machine be replaced?

b) In a super market the arrival rate of customers is 5 in every 30 minutes.
the average time at cash desk is 4.5 minutes which is exponentially
distributed. Find
i)  Traffic intensity
i)  Average time that customer is expected to spend in queue
iii) Probability that the queue length will exceed 5
iv) Probability that the cashier is working
v) Probability that cashier is idle.

[4963]Ext.-623 3



c) The pieces of cloth in 10 different rolls contain following number of
defects. 3,0, 2, 8, 4, 2, 1, 3, 7 and 1. Construct C- chart.

d) The Lajwaab Bakery Shop keeps stock of a popular brand of cake.
Previous experience indicates the daily demand as given below:

Daily demand Probability
0 0.01
15 0.15
25 0.20
35 0.50
45 0.12
50 0.02
Consider the following sequence of random numbers:
21, 27,47, 54, 60, 39, 43, 91, 25, 20
Using this sequence, simulate the demand for the next 10
days.Also find average demand.
05) Attempt any two of the following: [30]

a)  Write the pay of matrix for the given situation. The demand for vadapav
in the morning may be 21, 22, 23,24, 25 with probabilities 0.1, 0.15,0.2,
0.25,0.3 respectively. Making cost and selling price of one vadapav is
Rs. 8 and Rs.10 respectively. Balance vadapav is treated as waste. Also
obtain regret table. How much vadapav should he make using EOL
criteria?

b) Following the actual measurements of 10 samples each of the 5
observations in bottle filling plant. Construct and draw X and R charts
and comment on state of control.

Observations Sample No.
L {234 |5]|6|7]|8] 9]10

1 47 148 [ 46 |40 |35 [53 | 46 51| 48| 47

2 48 |49 142 |43 [40 |52 |47 |52] 48| 50

3 49 150 [ 40 |45 |45 (51| 48 |50 50| 52

4 50 |51 |48 [ 47 [46 |50 | 49 [50| 45| 53

5 5152149 |50 (44 |49 | 50 [47]| 46| 51
Givenn=35,D,=0,D,=2.115,A, = 0.577, Draw X chart, R chart and
comment.

c) The following table gives the activities in a project and other relevant

information.

Activity 1-2 |13 |1-412-5|2-6(3-5(3-6(4-5|5-6

Duration 8 |8 |10]10])16] 181417 9

Find earliest start, earliest finish, latest start, latest finish, total float, free
float and independent float for each activity. Also find critical path.

SISIS
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Total No. of Questions : 6] SEAT No. :
P1219

[Total No. of Pages : 2

[4963]Ext.-624
T.Y.B.Com.
BUSINESS ENTREPRENEURSHIP (Paper - III)
(2013 Pattern)

Time :3 Hours] [Max. Marks : 100

Instructions to the candidates :

1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) "Entrepreneurial personality differs from non-entrepreneurial personality".

Explain. [18]
0Q2) Define the term 'organisational behaviour'. Explain its importance and scope.[18]
OR

Describe the entrepreneurial personality of Mrs. Jyoti Naik. [18]
Q3) a) Write a note on improved work group. [9]
b) Explain the types of team. [9]
OR
a) Explain the terms job rotation and job enrichment. [9]
b) What are the causes of change? [9]
Q4) Define the term 'conflict'. What are the causes of conflict? [18]
Q5) Write short notes on (any two) [18]

a) Group cohesion
b) Team v/s group
c) Types of motivation
d) A change model

06) You are personnel Manager of private limited company. You are assigned to
reduce the stress of employees. How will you do it? [10]

SISIS

PT.O.



Total No. of Questions : 6]

P1219
[4963]Ext.-624
T.Y.B.Com.
BUSINESS ENTREPRENEURSHIP (Paper - III)
(2013 Pattern)
(TS FUTAR)
gez : 3ard] [Tor 7or - 100

gear :—1) @ Tv7 TISA0 H1a99% HTE.
2) 3IwAIHEIT IHH QU U FYFArd.

go7 1) ‘‘Seehia sathuca ferr-seeeha saftrrcamaen e esraa’’ . vase 18]

gy72) ‘OUSATH gd HehoU-dl SUTEAT €T, el Wged ATIUT saTet Tuse whar.[18]

e
.St ATk Tl ISR SATThAc U &l [18]
g7 3) ) GUIA HwEEUE IR 9 forgr. [9]
q) TS THR T HA [9]
e
) wHIEASA ATVT HTE TUFAAT HheuT TASE . [9]
) TEATH HRO BV A FA. [9]
g7 4) ‘OUY Geheuddl SATEAT TT, WHYT HIROT ShIuTdt o d. [18]
gy75) et St forgr. (St 39) [18]
at) wqg faem® (Group cohesion)
) w9 e wug
®) UM ThR

g) ddc u&u (A Change Model)

¥76) T WINFIT AIied huHId hHAR SHaEUTIeh AT, HHATATT ATITAuTTE
HHT FHIOATHT TTEERI AR ATE. § TFET HY HIA ? [10]

SISIS
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Total No. of Questions : 6] SEAT No. :
P1220

Time :3 Hours]

[4963]Ext.-625
T.Y.B.Com.

MARKETING MANAGEMENT (Paper - III)

Advertising Management
(2013 Pattern)

Instructions to the candidates :

Q1) Define 'Advertising'. Explain the functions of advertising in detail.

1) All questions are compulsory.
2) figures to the right indicate full marks.

[Total No. of Pages : 2

[Max. Marks : 100

[18]

Q2) Whatis Brand? Explain the types and their importance of brand identity.[18]

Q3)

04)

05)

06)

OR

What is Industrial marketing? Explain the types of Industrial goods.

a) Explain the essential factors for appeals in advertising.
b) Describe the advantages of branding.
OR
a) Explain the significance of Target marketing.
b) Explain the process of marketing research.

What is logistics? Explain the scope and functions of logistics.

Write short notes on (any two)

a) Objective of market targeting

b) Product and advertisement research

c) Need of ware housing

d) Marketing audit

Explain the importance of Target marketing

[18]

9]
9]

9]
9]

[18]

[18]

[10]

PT.O.



Total No. of Questions : 6]

P1220
[4963]Ext.-625
T.Y.B.Com.
MARKETING MANAGEMENT (Paper - III)
Advertising Management
(2013 Pattern)
(TS 'aTaR)
gez : 3ard] [Tor 7or - 100
gaar :(—1) @ TeT @iSlav savas 3ATE.
2) 3IwAIHEIT IHH QU U FYAAra.
3) @gulard? gz susl gvaafasr ugral.

gy 1) SATTRUA SATEAT e ? ST e |ieea fererg . [18]
gy72) o=z (Brand) o w3 ? foeg oo UK 9 Hgea Tose . [18]
feRan

AT TUuH U S ? SATeiieh aege YR T . [18]
gy73) 31) A ATATEATAIA HATT9Teh ATl TASE T, [9]
) fargea™ (Branding) wrae fovrg . [9]
feRan
) TAHAhg! AU HEged TIE . [9]
q) fauum weneETE SihaT U . [9]
T97 4) UITSTIE TgUTS h1d ? YRISTITETY T&Y o Hhid Tae . [18]
g7 5)  ArgeEma dan forgr. (SiureEtdt §) [18]

) SRl st
) T T WA oA
®)  TETET= TS

g) fooum eramafigon

97 6) TeThE RuM AEe T W [10]
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Total No. of Questions : 8] SEAT No. :

P1221 [Total No. of Pages : 4

[4963]Ext.-626
T.Y. B.Com.
AGRICULTURALAND INDUSTRIAL ECONOMICS (Special Paper-I1I)
(2013 Pattern)

Time :3 Hours] [Max. Marks : 100
Instructions to the candidates :

1) Question No.l is compulsory.

2) Attempt any five from question No.2 to 8.

3) Figures to the right indicate full marks.

Q1) Evaluate the role of district central co-operative Banks in rural credit since
1991. [20]

Q2) Discussthe comparative merits and demerits of modern methods of irrigation.[16]

03) Explain the importance of 'SFDA' and TAAP' in rural development.  [16]

04) Explain the growth and problems of Dairy co-operatives in India. [16]
05) Explain the causes and measures of industrial imbalance. [16]
Q6) Answer in brief [16]

a) Explain the importance of industrial policy

b) Explain the role of multinational corporations in India.

PT.O.



Q7) Explain in detail the role of private investment in infrastructural development
in India since 1991. [16]

08) Write short notes on [16]
a) Multinational corporations and industrial development

b) Role of Government in 'SEZ".

SISIS
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Total No. of Questions : 8]

P1221
[4963]Ext.-626
T.Y. B.Com.
AGRICULTURAL AND INDUSTRIAL ECONOMICS (Special Paper - I1I)
(2013 Pattern)
(TS 'aTaR)
gez : 3ard] [Tor 7or - 100
gear :—1) F9q 97 HEarE STE.
2) ¥vT @HIE 2 7 8 Gl HIvrag gra Fed @ISl
3) 3IwAIHEIT IHE YA QU [UT FIAATA.

g7 1) 1991 urga UwiuT TAYRESATd el ToTegt Aeaed Tgehil siehTedT qitcha JeawTa
. [20]

97 2) ATHGATEAT SYHE Tegaiedr JeiTeHeh UI-graret gl . [16]

go73) U feRmETd et “TEE daendt fereea wwan’ (SFDA) arifor ‘wesfSe ot &

wrEwa’ (IAAP) I Agea TUse &, [16]
g9 4) ARATAA Y AERN HEATAT Fedt SATMUT THEaT Tee . [16]
gy75) i AAHATATE SR g SUTT TISE . [16]
Ty7 6) s S e [16]

) irenfires SRUT Hgw TISe ohdl.
q) WRATAE SgUia AgHSHTE! YIHERT T .



gv77) 1991 ugA WA qrane gluen R wre e qite
Hfoea Faee . [16]

g7 8) drgeTa G fergr.
o) g wETEs o sftenfires et
7) favw enfofer gmmdie (SEZ) wvenm=ht yfirem

[16]

SISIS
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Total No. of Questions : 4] SEAT No. :

P1222 [Total No. of Pages : 4

[4963]Ext.-627

T.Y. B.Com.
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
(Special Paper - I1I)

Time :3 Hours] [Max. Marks : 100
Instructions to the candidates :

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 20 Words each: (any ten) [20]
i)  Write any two merits of strategic planning.
i)  Write any two purpose of defence management.
iii) Write the meaning of free market economy.
iv) Define threat perception.
v)  Define deficit finance.
vi) Write any two post war problems.
vil)) Define mixed economy.
viii) State any two ingredients of budget.
ix) Write any two sources of finance.
x)  Define war potential.
xi) State the meaning of technological forecasting.
xil) Define performance budget.

xii)) Write any two functions of defence accounts department.

PT.O.



02) Answer in 300 Words each: (any two) [30]

03)

04)

a) Explain characteristics of India’s economy.
b) Do you agree defence and development go side by side? Justify.

c) What is public good?

Answer in 300 words each: (any two) [30]
a) Explainrole of financial advisor in India’s defence planning
b) Examine foreign aid as a contributory element of war expenditure

c) Write a note on the trends of India’s defence spending

Write short notes on (any two) [20]
a) Elements of industrial power
b) Impact of decreased expenditure on armed forces

c) Linkages between planning and budget

SISIS
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P1222
[4963]Ext.-627
T.Y. B.Com.
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
(Special Paper - I1I)
(At EUTR)
gez : 3a1d] [ Tgor o7 - 100

gaar :(—1) @ Tv7 QISlav STavae.
2) 3ITAIHSIT SHH YUT FIIAATA.

gy7 1) 20 vrsgra IW 1. (HIUTAET T7T) [20]
) wmfe FEeE wod g e for
i) RS SERATIATS HIUTE I ¥ ferer.
iii) T WTehe ettt =T aret forgr.
iv) eierTfareEii=i TeheuT SaTEaT <.
v) fTefifae wrama s @@
Vi) o A gedi wwe fora.
vii) Torsr arefezewen samEaT <= 0.
Vill) STETIUFRTS HIVIAET G Heh TG hl.
iX) ST IeqATS HIVIAE! g S T9g .
X) GEGUHAT SATEAT 1.
Xi) HATATAIRA TR a1 3o ferar.
Xil) HENTHTE ASHHeT AT .
xiii) fetha sThtere feurénret wIvrtEt gF wr forr.



37 2)

797 3)

g7 4)

300 vrsqTa IW AT, (RIVTHTE ) [30]
) R rdeaawd=i afsrer e w1,

)  EREAUT TAAT HATTOT forehTer hidishA UehTel 99 T& Sael UTENId ? =T gl
®) Teciteh TS TEUR 1A ?

300 vrsgTa ST L. (HURA 3F) [30]
)  wRATeAn Wt FEeATde enfoe agrRrER gftre Tuse w5

) otk uea’’ g gl Uk Ueeh TgU[H UiReuT .

%) WRATSHT S0 Wt (SheT) Susd arer feuun ferar.

ofrgarTa feut forgn. (wivraTgt §F) [20]
) eAtefireR yehel Uew

o) RO T HUTHET HIE VTGS 0TI TR

F) FESE AT SESE AT dad
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Total No. of Questions : 9] SEAT No. :

P1506 [Total No. of Pages : 4
[4963] Ext. - 628
T.Y. B.Com.
INSURANCE, TRANSPORTAND TOURISM (Paper -11I)

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) Question No. 1 is compulsory.
2) Solve any five questions from Q. No. 2 to Q. No. 9.
3)  Figures to the right indicate full marks.

Q1) Define tourism? Enumerate the comparative study of tourism in India and
Tourism in other countries. [20]

02) Define Tour-planning? Describe the various documents required for foreign-
Tour [16]

03) Enumerate in detail the functions and working of PATA (Pacific Air Travel
Association) [16]

04) What do you know about transport? Enumerate the significance of Transport
in Indian Economy. [16]

05) What mean by Tour and travel Agent? Describe the role and working of tour
and Travel Agent in Tourism. [16]

Q6) State and explain the facilities available to International Tourist in singapore
and Hongkong. [16]

PTO.



07) Enumerate the qualities required for tourism-Business. [16]

08) What mean by Tour Accommodation? Explain the significance of Tour
Accommodation in Tourism. [16]

09) Explain in detail the current scenario of Air Transport in India. [16]

S
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Total No. of Questions : 9]

P1506
[4963] Ext. - 628
T.Y. B.Com.
INSURANCE, TRANSPORT AND TOURISM (Paper - I1I)
(2013 Pattern)
(AU3Y HuUTaR)
3= : 3 am] [ Tggr 777 - 100
gaar: 1) . | St sreavas o

2) U9 Sh. 2 U . 9 TR HIVIAE! UTal T9 A,
3) ITeIeRSIel 3ieh quUT 0T GYiferTE.

o7 1)

qv7 2)

797 4)

97 5)

797 6)

TRICAT SIREAT HN? WRATAIA e AT e evTrdier (ferevmdier) wedea arean
HEfiE GerTcHeR 1T faTg . [20]

I — P SarE A SIS AEETd! (TR AUIEIE) STy
FEUTH U (TEe) fovrg &, [16]

“Jaifthes gaTs ar stEtuyH= (PATA) s stifor shrafirt wferear fererg @r.[16]

TTETERIEEA STTIUT ST S0 ? HRAE JfeTedd digdehidl STHeel Hged v
AT [16]

T VT TR Usie TEUTR <hidl ? UieTd T ST Jaret Usierel Srdetet! qfrent
AT WA e =, [16]

fera sfor gimeRT ALY AT UHiEHTETS SUCTEY T G AiH, g
AL [16]



97 7) UbeA-SIaHEEIE! SIEyEeh SHUTR 0T {9 6. [16]

go7 8) ari-Famsaran o #? Wiedd IEi-fRam sgeaede sfee aged e
F. [16]

97 9) WRATHA gaTE dTgdehenTdl o (et wfore Tug . [16]

e
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Total No. of Questions : 5] SEAT No. :

P1507 [Total No. of Pages : 2
[4963]Ext - 629
T.Y. B.Com.
COMPUTERAPPLICATION (Paper - I1I)

(Software Engineering)

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

3)  Neat diagrams must be drawn wherever necessary.

Q1) Attempt any ten of the following : [20]
a) What is software?
b) Define software process.
c) Listoutavailable software risk.
d) What are the benefits of prototyping?
e) Whatis Data modeling?
f)  What are Attributes?
g) Define software testing.
h)  Define White box testing.
i)  What are the element of system?
) What is pseudo code?
k)  Whatis Data Dictionary?

)  Define cohension.

PTO



02) Attempt any four of the following :

a)
b)
c)
d)
e)

Explain in detail Waterfall model.

Explain in detail about Black Box Testing.

What are the merits and demerits of incremental model?
Explain in detail various layers of software Engineering.

Explain different techniques of fact gathering.

03) Attempt any four of the following :

a)
b)
c)
d)
e)

Explain software Development life cycle in detail.
Explain output design with example.

Explain in detail ERD with example.

What are the various types of coupling?

What are the different qualities of good design?

04) Write short note on any four of the following :

a)
b)
c)
d)
e)

Risk Identification

Spiral model

SRS Documentation
Feasibility study

Data Flow Diagrams (DFD)

05) Attempt any four of the following :

a)
b)
c)
d)
e)

Explain different phases of RAD model.
Explain Decision Tree and Decision table.
Explain in detail Unit testing.

What are the different types of cohesion?

Explain Software testing strategies.

S
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